ER27FEE(E170) hBT7oE—N\VT1XvvTIIIBE = EHRXRF R

BF U ERkiE
8H26H (JK) SMA$ 9348 6,518YARD PAR 72
. AF—FhUh)—55TFILa—X
JIE 152 K4 g3 ouT IN Gross HDCP NET
1 A &5 B X O AF—F&HLL 36 36 72 5 67
2 w B ¥ F O REZE 38 37 75 7 68
3 AR 2 — O Fx!)—LAY 38 39 77 8 69
4T M OB B & 44X 51 41 92 22 70
h @ BB E = E 41 36 77 7 70
r % B 18§ REZE 42 39 81 11 70
T E+)l F BE Fxl)—LAY 45 41 86 15 71
AW E T w R 42 42 84 13 71
9 w T 18 F N 44 45 89 17 72
10T | #& BEE A IOI5 42 38 80 7 73
¥ B IE HEZE 41 38 79 6 73
5 H it N A 43 40 83 10 73
13T | it F & == =1 39 39 78 4 74
Bas ® X AF—FHL 38 43 81 7 74
15T | 38 B8 B = #Z C 51 48 99 24 75
& K F OB JUAREILRX 46 46 92 17 75
i K F B Fxl)—LAY 40 40 80 5 75
2 O B OBE JLAREILR 40 41 81 6 75
19T | & B & A = e 54 49 103 27 76
FX ;3 = E 42 39 81 5 76
X ZE2 F B b H 42 43 85 9 76
A B’ E # MET™ 42 43 85 9 76
F M OIFE X 2 F—F&ELW 48 48 96 20 76
BE & & — A IOT5 42 44 86 10 76
i K B = 7 R 42 47 89 13 76
=2 HF B E A F—FELW 42 50 92 16 76
27T | & & & JUAREILKX 46 40 86 9 77
H & & & =k 44 41 85 8 77
B OB B B 2 C 51 48 99 22 77
5 W E—ER A—FHIL 41 39 80 3 77
m JH F A 2F—k&FIW 49 47 96 19 77
B o)l B oz = = 45 44 89 12 77
w & B A 2F—k&FIW 45 47 92 15 77
F OB B X JULALREILX 40 44 84 7 77
I BH 8 2z FGAF X 45 50 95 18 77
HE W E B A F—RF&HLL 42 47 89 12 77
37 h B & 7 FGAF X 42 45 87 9 78
T | E & & & % 5k 46 42 88 9 79
O B X = =B 47 45 92 13 79
m K B X GJULAAREILX 42 41 83 4 79
g B ¥E K B qbyy 50 50 100 21 79
N W =R N A 45 46 91 12 79
A B = AF—FHIL 51 55 106 27 79
[ E A X A 41 46 87 8 79
45T | 1 B ZE # =FH 50 43 93 13 80
bt 2 w R 47 45 92 12 80
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MEWL A 7 = = 44 45 89 9 80
= £ F ®& ELTFRIBKRE 47 47 94 14 80
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E BH K X L 43 46 89 9 80
JiT =3 FAF X 43 47 90 10 80
AN B & & = =B 41 47 88 8 80
T o Fxl)—LAY 45 54 99 19 80
54T | & H =y AF—FHI 55 48 103 22 81
A R OF X FAX R 48 44 92 11 81
b & B == =1 48 47 95 14 81
qF XK % #ZC 48 47 95 14 81
- = =F71Z9)A 50 54 104 23 81
B OH B X A—Rr)LT—X 45 49 94 13 81
> B & = =F71=9)A 43 49 92 11 81
I BH F X £ 43 52 95 14 81
62T | KA i 1 Fx!)—L A 47 42 89 7 82
F ak = E 47 43 90 8 82
h & % 2 8% g 42 46 88 6 82
B ORK M A& EF OC 49 56 105 23 82
# kK B A 8 IE 48 54 102 20 82
5 R B (& 2 F—F&ELW 40 49 89 7 82
68T | = H &5k 1T AKX 50 44 94 11 83
E B E 5 £ 4 46 41 87 4 83
X W B A 8 52 47 99 16 83
K H 15 2 F—F&ELW 56 54 110 27 83
JIl B B E ELTFRIBKRE 50 48 98 15 83
o 7 B N 47 47 94 11 83
HF Lk BA A—FHIL 57 58 115 32 83
AR N -1 Fl)—LAY 42 48 90 7 83
X ¥ R m =EQAW 42 49 91 8 83
77T | 7 W X B Fx!)—LAY 49 50 99 15 84
h E %= 2 Fxl)—LAY 46 49 95 11 84
B & — F == =11 42 46 88 4 84
80T | /N B W 18 =EFHI 52 43 95 10 85
2 nt B 7 FGAF X 45 49 94 9 85
H E = iE =EQAW 44 49 93 8 85
83 B &% F—8 = E 47 46 93 7 86
84T | th # = A A—FHFLL 52 48 100 13 87
N IE B B qbyy 44 56 100 13 87
86 B E E M Fx!)—LAY 61 48 109 21 88
87 NIl % BF N A 50 53 103 14 89
88 i R S A F—FELW 45 49 94 3 91
89 a2 A sh — B S 53 50 103 11 92
90 X Il #% % AF—FHLL 60 68 128 34 94
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